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12NN MONY Y NNY WD 4T DPNINN DR POYA NIPO v L1 PO MR D
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JANRS 023039 MINAID MMM IR 991 PUHA MNDIIN DT PORYA NP NIND
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(NITI71 40) C++ NIDIN- "N 77N

ANITI71 20 — A7NW 707) 2-1 NIYNWA 'aD NNN 7V N1y

1 NINY

AN D3 NI JI0,1NT ¢ wHIwn HY 230 TN NN base 19007 .base 1901 NYAPHNN NIPN 1IN
VOvnn ool

NN WD AN PIND D¥IANNN TAN YN NNININ DN W DWW base 1INN 1PN
.N12910 base NN D230 MY DY DINKN .NOYN PIT NYNIN AXND DV INPI MONNYH NTIPINN

JTAN NI DY NN WOWN DDID TAR ¥OIWN DD P ,NMNYN NNIND DINNN) DWIWNN DI Y001

SHINNDNT
:base =3 MY
%k % %
ks kK kk

ke kK ok *k kK

:base =4 M1y
* * * *
kok skok kok sk sk
* ok ok Kok Kok ok Kok

e sfoskok skokokok sfeokok feokok

:base =5 MYy
% S S sk S
kK Kk £33 L3 skk
kR ok skok ok sksk ok Kok KKk
kR ok ok sk sk ok B 3 3 3 Skokok ok skok oKk

Skskeskoksk ek g ok eskeoskosksk skkkskk skkskskok

2 AINY

NWN TN 7 O true PIND THPIPNN .ANT THIND DN 2 NOIPHN HBONP PIPN 1IN
NURIN TIWNHIY D29 TI9N ITOI DITIDN

:PNPNAN HHN

bool isReverseArrays (int arri[], int arr2([], _int size)
SMININT
STI9N 7TD2 DITIDN DPIIWY INNRND true BN 5 DINNY {6,9,3,8,2}71 {2,8,3,9,6} OIynN NIy

PUNIN TN NN TR TIWY NN false NP 5 DINNY {6,9,3,8,2)7) {2,8,3,7,6} DawnN MYy
2IWN TN MY TN Y TIWNN Y
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ANITI71 20 - A7RY '707) 4-3 NITRWUN 'AD DNXR 7Y My

3 NNV

DWW TN NIMIN DY YAX N0 DN NS OW 1PN .NI9Y NipSNNn NN

class Flower

{

private:
char typel[10];
char=* color;

int stemLen;

JLOPYPIIND MM DI NN DAPNN NI 2IND

(distructor) P99 ,(copy c'tor) NPNYN MNI2 NODIIN NMYDWN NN WNND TN DN
TN 0N PN YT 9200 IINK ,DMIN WHN ) ONX (=) NHPYN NOINNY

. 172 99230 TN NN DY 1Y I postix™N NOMA ++ NOINNI NN wHN
.97 10 N MY const char*~Y casting NOINN WHD

OV 0YATY NNITY main 273N
void main{)

{
Flower f1("anemone', "red", 5); // TNYIR MY
Flower f2(f1);
cout << f2 << " " << f2.getStemlen() << endl;
Flower f3("cyclamen", "purple", 7); // 190D NopI
f2 = £3;
f2++;
cout << f2 << " " << f2.getStemlen() << endl;

}

/*

anemone 5
cyclamen 8

Press any key to continue

*/

("py 4)

("ms 8)

("py 5)

("py 3)
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4 n'INY

JPONN V29 I NN TINI .TPYRI DPIPNN DPONN PTNN NP Pnd

#include <iostreams>
using namespace std;
class Stam
{

int x;
yi
char* str;

int*

public:

Stam({int x=0, int* y=NULL,

char* str=NULL) x(x),

int  getX() {return x;}
int* getY() {return vy;}
char* getStr() {return str;}
~Stam()
{
(*y)--:
str{0] = "!';
}
}i
void main()
{
int nl=10, n2=10, n3=30;
char text{] = "hello";
Stam* arr[4];
arr[0] = new Stam(nl, &n2, text);
arr{l] = new Stam(n2, &nl, text+1);
arr[2] = new Stam(nl, &n3, arr[l]->getStr()+1);
arr[3] = new Stam(*arr[0]->getY(), &nl, text+3);
for (int i=0 ; i < 4 ; i++)
{
cout << arr[i]->getX() << " ";
cout << *arr[i]->get¥() << " V;
cout << arr[il->getStr()+1 << "\n";
}
for (int 1=0 ; 1 < 4 ; 1i4+)

{

delete arr{il;
cout << nl << endl;
cout << n2 << endl;

cout << text << endl;

yv(y),

str(str)
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(nITI71 60) VHDL - "2 7'7n

ANITI{NI 20 — A7NW '7D'7) 10-5 NI7NRWA 'an WITY 7Y My

5 NINY

SN NXIDY DN AYIDY NOYA DXANND DN NININN 5 ONYD MNa

din e——— L e dout

resetN o————— State Machine

clk o—————>

5 NONVY 9N

112010 DN NINDHN VHDL mdnh nnn

library ieee ;
use ieee.std logic 1164.all ;
entity rd4 is
port {( resetN,din,clk : in std_logic ;
dout : buffer std_logic ) ;
end rd4 ;
architecture arc_rd4 of rd4 is
type state is (zero,rise,one,fall) ;

signal present_state , next_ state : state ;
begin
process ( resetN , clk )
begin
if resetN = '0' then
present state <= zero ;
elsif clk'event and clk = '1l' then

present_state <= next_state ;
end if ;
end process ;
process ( present state , din )
begin
dout <= '0'
case present state is

when zero =>
if din = '1' then
next state <= rise ;
else

next state <= zero ;
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end if ;
when rise =»>
dout <= '1!
if din = '1' then

next_state <= one ;
else

next state <= fall ;

end if ;
when one =>
if din = '1' then

next_ state <= one ;
else

next state <= fall ;

end if ;
when fall =»>
if din = '1' then

next state <= rise ;
else
next state <= zero ;
end if ;
end case ;
end process ;
end arc_rd4 ;

JN2wN NN PP T Moore NON IN Mealy 2010 N0 MMonN ONN X (77 5)
NN DY (PMYIA” DHNNOT) DASN INNMNOT LV A (7P 10)

397Dy DXANNN NNIPN DN YIP NN IWRI TIPN DY NNOVPLIIIRN PONIN VTN N 2 ('pa5)
DPNPYN DR VTN PNIN TIPY HYON? WINN TIP3 DIMPY DINPN Y31 .AININ NHALN

NYNNIY
State Assignment
Zero 00
rise 10
one 11
fall 01

TRNPON %951 YD IMNT MDD PAN XY WTNN TIPA DXAsND NINSPN $1han
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6 N'7INY

SN RSINY DINIAN DYDY NOYT DN DHON NININN 6 NORYD 9N

din e———
resetN e———— !

clk o—on >

———e dout

State Machine

6 NHNYY 9N

library ieee ;
use ieee.std_logic 1164.all ;
entity rd4 is

( resetN,din, clk
dout

port in
end rd4 ;
architecture arc_rd4 of rd4 is

type state is

signal present_ state , next_
begin
process ( resetN , clk )
begin
if resetN = '0' then

present state <= zero ;
elsif clk'event and clk =

10NN HIN NIRNNN VHDL 0N N

std_logic ;

buffer std logic ) ;

(zero,rise,one, fall) ;

state state ;

'1' then

present_state <= next state ;

end if ;
end process ;

process ( present state , din )
begin
dout <= '0' ;

case present state is

when zero =>

if din = '1' then

next state <= rise ;

else

next state <= zero ;
end if ;
when rise
dout <= '1' ;
if din = '1' then

next state <= one ;
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else
next state <= fall ;
end if ;
when one =>
if din = '1' then
next state <= one ;
else
next state <= fall ;
end if ;
when fall =»>
if din = '1' then
next state <= rise ;
else
next state <= zero ;
end if ;
end case ;
end process ;
end arc_rd4 ;

2¥HONIMMINNN NNN WHNWN PTIN 2970 DX ONNHY (Test Bench) NNINN NP>TI5 TP 210D
,TUNNA resetN NIINN MYSNNI MIIND™N J9INI NNINN NN NOOND NPYTAN ,N2NNL .DOONNN
WYY NPYTAN D .rise, fall, one, rise, zero DYANNN TIT MMIIPD J9INI ININN NN NPIAYH NPYTIAN
NXIND MMNNN MNXIND D NNY DPIWIRD DMIIYHN D3 IN PITID TNX PN 7153 NNN DY
X2 NN NN MIPIADHY MIYD 1INI
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7 NINW

«dout XX din N1IN NOYI Moore DN D¥AXNND NI NININD 7 NONYY 'N NI

din e——— | . e dout

resetN e——»] State Machine

ck e— >

7 AHNYY /N YN

DYIANNN NONVNYT NININD 7 NONRYWI 2 MINI TN NDYIY TMNNIPON NN NN resetN X1ann
" 9NN SY ("M INNNTY

din

resetN Zero

din

7 AHNUY /2 9N

MY MYNNNI ,NNNIN DIANND NNON DX INDND (NNOVPYIIINT MW) KON NP ND N (773 10)
a0 TONM ,NNINN YV (State Register) DXMNI979Y090 NN INNNN THN TONN :0Y20NN
ANXIND NPINIDY NID 2NND WPYN NPMD) ININN DY NI PN NIWNN NN INDNI
MNPON NINY NN (Enumerated Data Type) 191200 N33 DXANNDN MHNY NN IN»
DNNPNA YYD MAIWNN NOO NNINN NN IND :7PMN .D¥ANNN INIPN NN NYNIN
Rutaliany

TONNN M TIPA .ANIND DY MNIIPON TPONNN DN INDHDD TP PoN INYThn N0 .2 (792 10)
NN TN J'ena='1 TYNI 'N PON OV TP 10D DYHN NNINMN ena DY NYAN NIAN INTD
Jena='0 IWNI 23N ININI
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8 N7INVY

8 NINWY NI ININNI 710117 TP MY NN ANm)

CLK N5 5w 210 18P PIIT 993 NN M0 nHapnn SI N3wnn 5w snon Nam

PO ,TIPN MM TNSY 10117 TIpN NP 989 NOXOP 0PI PI /1Y 100 TN Z RN

INAD DT XXINY 29 NI G¥IN DY INWNIN DI 2UNIND 191D ININND

ST no”»> 1 0 1 1 0 1 1 1 0 1
Z N3 0 0 0 1 0 0 1 0 0 0
CLK
—
SI N MWD
"1011"” Tp ,
—_— ]
RESET
8 NHNWY N
DYNNN DY NPIYN P O NI NIIWH NS NN NINDBN ML INDNT LLID N (/P) 10)
NNNYT
Z10117 T AN NTHN NIIWNN N2 DX NYSaIND VHDL Nav1a IXON N nd a2 (s 10)
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9 N7TNY
LDINDN NIMIN DT INNN 0NN TNR 521 VHDL Nava N »wop 0N N NORYA

NP0 0N DXAYNI MNMIND DI .NOND NIINN YN TN DI DY DIWVWNHNNIN DIYNN DN LVLIDY TOY
JINN YAPI OR NONX (TNNN 29D IN2) bit IN std_logic NON (NMPOPD MNIVI) MTNI

NY2D DY DYDY ,MO97959 1N ,07ND DIYY :DN YINIHN MINT TNSD TV DYTIYY DM
2ONUN VP PO MNNN D> (Tri-State) O1IANN-NON OIYN (Gated Latch) MWON

D™D DN D3 YHNYND TNN PR NININ DI DY vindn TNSD 1hen

N ("7 5)
-- Code section #1
process ( ¢ ) -- only c
begin
if c'event and ¢ = '1' then
w <= (not s and a) or (s and b) ;

end if ;

end process ;

A (s
-- Code section #2
process ( ¢ ) -- only c
begin
if c'event and ¢ = 'l' then
if s = '1l' then
W <= m ;
else
W <= 1n ;
end if ;
end if ;

end process ;

2 (Upr5)
-- Code section #3
process ( ¢ ) -- only c
begin
if c'event and ¢ = '1' then
if s = '0' then
W <= a ;
end if ;

end if ;

end process ;

S 11 -
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T (' s)

-- Code section #4
process (a,b,c,d)
begin

k <= a and not b ;

if ¢ = d then

k <= a ;
end if ;
k <= ( not cand a ) or ( ¢ and b ) ;

end process ;

10 NINY

MM NIWN DY HONID NN PN 10 NONYS TPNA

! i0 » i0
MUX y MUX y p——o (_ext
g_int
d e—» il sel il sel
L —1

10 NnHNYY N

wnnwn .VHDL Nowa 79NN DX INNND (DONDN DNOPLIIINY MYY) Tipn AN 1IN0 X (7P 10)
299NN NN NAY Gated Latch 0N 1252 TAN TONNA

19 193 9K DNMDNY IDRD V9 DD MNIND IN DNNVNI YNRNYND PN HIPN
D090 TINA DMIVAY MMKD MNY YHNWND NON

NN 0NN MONI 4 0y (MUX) 239 ndws nysann VHDL Nava NNon mdn Ny .2 (Y9 10)
TN DY DXI2ID2 NIMDNI MNP MONIN MNY wHnvino v TNR
. 10 NORYH

tnbsna
V7R MY HMNN 5 ©

- 12-



